43. All curves have the vertical asymptote x = 1. For ¢ < —1, the
curve bulges to the right. At ¢ = —1, the curve is the line x = 1.

For-1<¢< 0, it bulges to the left. At ¢ = 0 there is a cusp at
(0, 0). For ¢ > 0, there ; 1s a loop.

4. (£1,0), (+3,0) 41. (-£,3), (-1, 3)
, y
I—
OI x
x* oyt y? 32
M0 —+-=1 g -1
25 9 72/5 85 -
x*  (8y ~ 399) 4
B3, = + X 20 S A
25 l60gor 1 Hr=oo cos 0

§1. (2) At(0,0)and (2,3)

(b) Horizontal tangents at (0, 0) and (\/— )
vertical tangents at (0, 0) and (¥4, 4,32)

@ ; g3

y=-x—-1>

PROBLEMS PLUS ® PAGE 712
1n(m2) 3. [-33,3/3] x [~1,2]

CHAPTER 11

EXERCISES 11.1 = PAGE 724
Abbreviations: C, convergent; D, diversent

1. (a) A sequence is an ordered list of numbers. It can also be
defined as a function whose domam is the set of positive integers.
(b) The terms a, approach 8 as n becomes large.
(c) The terms a, become hrge asn becomes large.

438 5 pGEeat e - L N R
3 5,55 15 5. 5, 75, T25v 625 3125

9.1,2,7,32,157 . 2, B 'au = 1/(211 - 1)

15. a, = 3(_3)"—1 17. .= ( 1)1‘+‘ T

19. 0.4286, 0.4615, 0.4737, 04800 04839 04865 0.4884,
0.4898, 0.4909, 0.4918; yes; 5 :

21. 05000, 1.2500, 0.8750, 10625, 0.9688, 10156, 0.992,
1.0039, 0.9980, 1.0010; yes; 1
2.1 25 2.1 291 1 )
/D 370 W0 40 4830 g5
47. ¢ 4. In2 5.7/2 5.D 8 p
5.1 5.3 61.D 6.0

65. (a) 1060, 1123.60, 1191.02, 1262.48, 1338 23 () D

APPENDIXH ANSWERS TO ODD-NUMBERED EXERCISES A1¢

67. (a) P, = 1.08P,_, — 300
69 -1<r<1

71. Convergent by the Monotonic Sequence Theorem; 5 < L < §
13. Decreasing; yes 75. Not monotonic; no

71. Decreasing; yes
8. (b) 3(1 +/5)

(b) 5734

79.2 81 ;(3 +4/5)

86. () 0 (b) 9, 1L

EXERCISES 11.2 = PAGE 735

1.(a) A sequence is an ordered list of numbers whereas a series is
the sum of a list of numbers.

(b) A series is convergent if the sequence of partial sums is a con-
vergent sequence. A series is divergent if it is not convergent.

32

5.1, 1.125, 1.1620, 1.1777, 1.1857, 1.1903, 1.1932, 1.1952; C

1. 0.5, 1.3284, 2.4265, 3.7598, 5. 3049, 7.0443, 8.9644, 11. 0540; D
9. —2.40000, —1.92000,
—2.01600, —1.99680,
~—2.00064, —1.99987,
—2.00003, —1.99999,
—2.00000, ~2.00000;
convergent, sum = —2

{a}

11. 0.44721, 1.15432, 10
1.98637, 2.88080,
3.80927, 4.75796,
5.71948, 6.68962,
7.66581, 8.64639;
divergent

13. 0.29289, 0.42265,

0.50000, 0.55279,

0.59175, 0.62204, -

0.64645, 0.66667. s}
0.68377, 0.69849; L

convergent, sum = 1

2

5.@C WD 17.D 192 a6 2a :
%D 2D 2D 313 8.D 36D

3.D 0D Mefe-1) m@m m Y 47 -1
49. b) 1 (c) 2 (d) All rational numbers w1th a terminating
decimal representation, except 0.

5.5 53 2 55 5063/3300

1 1 -5 3
5. —<x <= 5. ~1<x<5;
5 S5 T, TERT Y
: 1
6. x>2o0rx < —2; = 63. x <O
x—2 1 —e*

65. 1 67. a, =0,a,= forn>1,sum =1

2
n{n + 1)




